
1.
503.44

0.84
1.25

19.50 6.00 22.50

24.0024.00

48.00

A

1.
90 3.

70

NOTES:
1. SOME ITEMS NOT SHOWN IN ALL VIEWS.

3.14

5.
31

6.10

DETAIL A

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

RE
V

88
99

3
D

88993

SHEET 1 OF 3

MT.AIRE (GAS)

M.E.W.

S.M.

UNLESS OTHERWISE SPECIFIED:

SCALE: 1:1 WEIGHT: 

REV

DWG.  NO.

D
SIZE

TITLE:

WIPER TECHNOLOGIESNAME DATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

INTERPRET GEOMETRIC
TOLERANCING PER:

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR:  1.0
TWO PLACE DECIMAL 0.010 
THREE PLACE DECIMAL 0.005
PUNCHED HOLES 0.003

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
WIPER TECHNOLOGIES.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WIPER TECHNOLOGIES IS PROHIBITED.

BY:DIESEL EQUIPMENT COMPANY



8

9

6

4

7

5

13

15

16

11

12

23

20
21

22

24

25
26

2728

2930

31
32

19

18

17

14

2

1

3

10

A
4X

B
4X C

3X

D
1X

E
1X

F
2X

G
2X

H
4X

I
2X

SERVICE PARTS
PIVOT SHAFT HARDWARE

ORDER KIT # PSHWKIT
INCLUDES #24 THRU #30

SERVICE PARTS
PANTOGRAPH ADAPTER KIT

ORDER KIT # PSHPANTO
INCLUDES #20 THRU #30
(MUST SPECIFY 200242

ADAPTER PLATE )

SERVICE PARTS
LINKAGE ASSEMBLY

ORDER KIT # GEAR2424
INCLUDES #'S 4,6,7,8,&9

W
E
X
C
O

L
H

P
S

X

G
R

2

GROUND
SWITCH
POWER
HIGH
LOW

GROUND (BROWN)
SWITCH (BLUE)

POWER (BLACK)
HIGH (RED)

LOW (GREEN)

TO
CHASSIS

TO
MOTOR

+
DC12V
BATT.

HIGHSTOP LOW

LOW

SWITCH

POWER

HIGH

Black

Blue

MM

Red

Green

DYNAMIC PARK CIRCUIT

GRD.[Brown]

TORQUE TABLE
A. 30-40 IN. LBS

B. 90-110 IN. LBS
C. 70-90 IN. LBS
D. 360 IN. LBS

E. 160-210 IN. LBS
F. 140-180 IN. LBS

G. 90-110 IN. LBS
H. 60-70 IN. LBS

I. 20-35 IN. LBS

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 MBG2875N MOTOR BRACKET 1

2 D103 12V. 38nm DYNAMIC PARK 
MOTOR 1

3 400210 6mm BOLT (MOTOR TO BRACKET) 3
4 200188 4.0 Crank Arm 1
5 400200 8mm NUT (MOTOR TO CRANK) 1
6 200220 DOUBLE BALL STUD 1
7 NCC4000308 3/8-24 UNF FLANGED NUT 1
8 300855 24'' LINK-OPEN/CLOSED ENDS 1
9 300854 24'' LINK- CLOSED/CLOSED ENDS 1

10 SB48 48'' STUDDED STRINGER BRACKET 1
11 300896 PIVOT SHAFT (2.3 L C to C) 2
12 NW4000010 10-24 UNC 3 LOCKNUT 4
13 CB90DE CHASSIS BRACKET 1
14 5C4000516000508 5/16''-18- x 5/8'' BOLT 4
15 WB4000516 5/16'' SAE FLAT WASHER 4
16 NW4000516 5/16'' 18E LOCKNUT 4
17 220-242400-04-2099 HOSE CLIP 7
18 77-216 3/16'' I.D. TUBING 10
19 060382-0030 3/16'' TEE 1
20 47-89 PANTOGRAPH ADAPTER SEAL 2
21 200242 PANTOGRAPH ADAPTER PLATE 2
22 5FBB14134 BOLT, HEX HEAD, 1/4-28 X 1.75 4
23 NX4000104 NYLON LOCK NUT, 1/4-28 4
24 300752 RUBBER WASHER 2
25 300754 METAL WASHER 2
26 300756 PIVOT SHAFT HEX NUT 2
27 300749 SEAL CAP 2
28 300637 TAPERED KNURL 2
29 300761 WASHER, STARLOCK 2
30 300759 ACORN NUT 2
31 6207485 18-8 SS #10 FLAT WASHER 2
32 5248785 #10-32 ACORN NUT 2

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

RE
V

88
99

3
D

88993

SHEET 2 OF 3

MT.AIRE (GAS)

M.E.W.

S.M.

UNLESS OTHERWISE SPECIFIED:

SCALE: 1:1 WEIGHT: 

REV

DWG.  NO.

D
SIZE

TITLE:

WIPER TECHNOLOGIESNAME DATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

INTERPRET GEOMETRIC
TOLERANCING PER:

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR:  1.0
TWO PLACE DECIMAL 0.010 
THREE PLACE DECIMAL 0.005
PUNCHED HOLES 0.003

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
WIPER TECHNOLOGIES.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WIPER TECHNOLOGIES IS PROHIBITED.

BY:DIESEL EQUIPMENT COMPANY



200487
31.5'' PANTOGRAPH ARM

SCALE 1:2

200488
31.5'' PANTOGRAPH ARM

SCALE 1:2

SERVICE PARTS

201712
CHANNEL

423
NUT

200955
SPRAY NOZZLE

345
BOLT

1000X
SHIM

200342
CAP

31.50

1633290
31.5'' BLACK FLEX BLADE

SCALE 1:2

065400
4 QT. RESERVOIR

SCALE 1:2

063361
CAP

066011
12V. PUMP

060382-0030
TEE FITTING

SCALE 2:1

100755
ANTI-RETURN VALVE

SCALE 2:1

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

RE
V

88
99

3
D

88993

SHEET 3 OF 3

MT. AIRE (GAS)

M.E.W.

S.M.

UNLESS OTHERWISE SPECIFIED:

SCALE: 1:1 WEIGHT: 

REV

DWG.  NO.

D
SIZE

TITLE:

WIPER TECHNOLOGIESNAME DATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

INTERPRET GEOMETRIC
TOLERANCING PER:

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR:  1.0
TWO PLACE DECIMAL 0.010 
THREE PLACE DECIMAL 0.005
PUNCHED HOLES 0.003

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
WIPER TECHNOLOGIES.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WIPER TECHNOLOGIES IS PROHIBITED.

BY:DIESEL EQUIPMENT COMPANY


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Detail View A (1 : 1)

	Sheet2
	Drawing View6

	Sheet3
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View13
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18


